Stoichiometry Worksheet Week 2

1. If 2.45 x 10 molecules of oxygen gas are available, how many moles of Hz
would react with it? 2H: + 0 > 2H

- %QIM D2 | e Oz y  2oelhe o
. ((p Olxlo ,@W ’ﬁH“L

2. What would the final volume be of water when a 5.5 M solution is needed to
react with 12 g of HCI? The equation that represents the reaction follows.
NaHCO; + HClI > Nacl + H0 + CO;
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3. Kim uses 50 mL of Pb(NO3). at a concentration of 4.5 mol/L, what is the

mass produced of sodium iodide (NaI)? Using the following equation:
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2Nal + Pb(NOs3), - PbI» + 2 Na(NOs)
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4. 120 mL of CH3COONa is used to produce H,O . If 9.81g of Hz0 is made, QL A
what is the concentration of CH3COONa used? The following equation ;

represents the reaction:
NaHCO; (s) + CH3COOH (aq) — CH3COONa (aq) + CO: (g)+ H20 (1)
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5. How many L of a 7.0M solution of HCI are needed to react with 9.85g of
H.0? The equation that represents the reaction follows.
NaHCO3 + HCl > NaCl + HO + CO;

& E(M |MM [mel 1] 0.5 tel1s /2™ 5%&1497?_531,90(161 7 Ond)
€. o%rh/c) e ( L
1%




6. 150mL of BaClz is used to produce BaCrOs . If 25.0 g of BaCrQ4 is made,
what is the concentration of the BaCl; used? The following equation
represents the reaction:

KeCrOs(aq) + BaClawg) > BaCrOss + 2KClgg
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7. Use the equation below to answer questions a and b.
cuy + 2 AgNO3 > Cu(NQO3), + 2 Ag

a- If 4.33 x 10" molecules of Ag are available, how many moles of silver nitrate
AgNO3 would react with it?
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b- If 450.0 g of copper nitrate Cu(NO3)z was produced, how many Ag atoms
must have reacted with the copper nitrate?
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8. Fred neutralizes 250 mL of HCL at a concentration of 4 5riotA: ualny
Ca(OH)2 according to the following equation:
2HCl + Ca(OH) - CaCl, + 2 H.0
What is the mass of the CaCl; that will be left in the beaker?
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